SIEBEE 24 Thermodynamics Home Work 2.4

1. Find the following derivative, where a and b are constants,

d b [ 2 s
— sin” x+cos” x)e™ dx ="?
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2. Find the following derivative, where a and b are constants,

a%[_[jF(x, y,2)dx]=?

3. Find the following derivative

d ¢/
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SIEBEE 24 Thermodynamics Home Work 2.4

3. Find the following derivative

d ()

h(y)dy =2
gl (y)dy =

Solution (f£%%) :

Let (%)

H'(»)= d%” ~ ()

It yields (FH DA B 25 vl A1 DL N A& 5345 5 1] DLES 50)

Jf( >h _J/( >dH(y) Hf (x)]

o o dH () = HLf(x)] - HIg()]

Thus (NEE¥_EABST AI15)

1 hOdy = <UL 01 Hg o)

f() g()

=H'Tf()]——=
df(x)

— H'[g(x)]—=—

dg(x)

= hLf ()= == hlg(x)]—=—

Namely, we have

a’f (X) dg(X)

1y = 0L - g




